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IRoll No:

ParticipantsName | rajhindinews.com
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Test Time: 4:00 PM - 5:00 PM

Subject: ALP Technicians

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 M= F oifEe & TH T SeiweT #r eaE e e B E

The maximum number of electrons that can be accommodated in M shell is:
Ans ?( 1. 8
X 22
v': 18
< 432

Q.2 $SM@A#N2B40&3C5P+D2

TR U WTHEH BT IEHT TART 5 ST § R T oA R ey & Question ID : 9864493744
} ) Status : Not Attempted and
Marked For Review

Question ID : 9864493253
Status : Answered

Chosen Option :3

AO+, MB5, N32, $2P
$SM@A#N2B40&3C5P+D2 Chosen Option : --

Using the above sequence find the characters that do NOT belong to the group:

AO+, MBS, N32, $2P

Ans X 1. N32
<2 AO+
v $2P
<+ MB5

Q.3 & ==Y s & oA A W T 46 I ¥ 1S T g, 9 H A7,
o F1 A ¥ AR o 92 TR o B TEA Mg F 57

The sum of the present ages of two cousins is 46 years. Eight years ago, the elder one was
twice as old as the younger one. What is the present age of the elder cousin? Chosen Option :3

Ans
X1 22 9§
22 years
X2 30 9%

30 years

28w
28 years

Question ID :9864492872

Status : Answered

v
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, 26 T8
26 years

x

Q4

Ans

T Tl B WA S % O, e wfEd F T3,420 # v A &
S S AT HHAS W 43% FA AT FH R 10% A Ged g f&shar w1 @
7 w3 F=er TR O Status : Answered

To dispose of the old stocks, a person sold a tea-set for ¥ 3,420, which was 43% below the Chosen Option : 4
cost price. In order to make a profit of 10% the seller should have sold the set for ¥

Question ID : 9864492868

more.

v 173,180
X< 232,580
7 33%1,812.60
X 4.72,664.42

Q5

Ans

s &1 fael givar dar fowr o wnfefaw e (@) & oo s wie
%

‘Who is the current director of Research and Analysis Wing (RAW), India’s foreign
intelligence service? Chosen Option :=-

Question ID': 9864492275
Status :Not Anhswered

p N SULCy
Kiran Bedi
7> AT FHAT TFATAT

Anil Kumar Dhasmana

X3 feereay oAT
Dineshwar Sharma
3T BT
54
Ajit Doval

Q6

fegaT 2018 ﬁmﬁﬁﬂﬁﬁgﬂﬂﬁw Question ID : 9864492554

On which dates of December, 2018 will be Wednesdays? Stats : Not Attempted and
Marked For Review

Ans 2( 1. 4,11, 18 3.ﬁ7{ 25 Chosen Option :--

v 25 12,19 3726
X 3 3,10,17.31T 24
X 4 6, 13,20 317 27

Q7

Question ID : 9864493812
Status : Answered

Chosen Option : 2
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RrarE M ds o sgrsa iRt g tS
TEemsr & § s oi=ehr 78T &7

Coach

—— Players
Girls- =r=ferar Coach- F Players- fRremsr

In the following Venn diagram which region represents the coach who is also a player but
not a girl?

Girls Coach

——» Players

Ans ?(" .U
voT
< 3R
<45
Q8 e gl &Y,

Question ID : 9864492479

Status : Answered

22 — (1/4){—5 — (—48) = (—16)}

Solve the following: Chosen Option : 2

22 — (1/4){-5 — (—48) + (—16)}

Ans X' 1. (
V224
X322
<421
.9 FEa &
Q° TTE H UAT TN & forw ifSEmge FroF €? Question ID : 9864493056
What are the receptors for detecting taste'called? Status : Not Attempted and
Ans Marked For Review

~L —
gafeed g (Sensory receptors) chosenopten.

Sensory receptors

& 2.
It 3ifaEngsd (Chemical receptors)
Chemical receptors

p )
gToT HTFAES (Olfactory receptors)
Olfactory receptors

v
TESr 3ffames (Gustatory receptors)

Gustatory receptors

Q.10 Downloaded from - WWV\TEXW
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30 ey &1 98 T S & 7 Hp F o T F B sugeEs Question ID : 9864493915

Status : Not Attempted and
Marked For Review

® Chosen Option : --

A B C D
Select the option that correctly fits in the blank space in the given figure.

©
...:.@r
-,®?

i ]
B

A c D

Ans 2{1[]
<2 A
v:C
< 4B

Q11 -7 T gy Bnf-secd v
FfE tan g 24 %’ ar p T Sl : sing 28 Question ID : 9864492576

If tang =~ then find the value of p such that W= = Status : Not Attempted and
¢ = Marked For Review

Ans X125 Chosen Option :--
V275
X 350
< 4100

®
@

Q12 feFr 7T AT o & IMUR T IUREYT Ta F TIF

Question ID : 9864494040
Status : Answered

Chosen Option : 1

MAKING : KGMANI :: CAPETO :

Select the missing term based on the given related pair.

MAKING : KGMANI :: CAPETO :

ans of 1 POCATE

< 2. POTECA
# 3. POCAET
< 4 POACTE
Q.13 Hrasiffie FcarENvT FleTeeee (G) & AT H Wl v gaNT &I TS

Question ID : 9864493579
Status : Answered

Ans v %ﬂﬂ' %‘c‘l‘%‘ér Chosen Option :3
1.

The value of universal gravitation constant (G) was determined by:

Henry Cavendish
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« , TCIlT Tl ofalferay
Antoine L Lavoisier

 , Tt e

Isaac Newton
X 4. Sl STedd
John Dalton
QU frfaf@a & & FiT /T UF 305 & 0T QT ¥ 2 Question ID : 9864493290
Which of the following is NOT a property of acids? Status : Answered
Chosen Option : 2
A
", T T TET A §

Acids have sour taste
| 3FT T TEIG Hsdl Bl §
Acids have bitter taste
2~ 3.
HET &R & I AT 90T 941 §
Acids form salts with bases
x4
HET Aol oreaw # oer & oRafdag s &ar &

Acids turn blue litmus red

v

Q.15 &% A & wreA Tl (Problem figure) & WHEA 35T @M AW o 8w a7 Ix

faredt & (Answer Figures) & T wod ofy r T8 U0 ofy ST & 2rfr 2 Question ID : 9864493835
Problem Figure Status : Answered
o 1} Chosen Option : 4
\ [
I
® 3
Answer Figures

1
L] C O

At A e
RN SN
L ] O [ ] L]
A B N D
Choose the correet mirror image of the problem figure when the mirror is placed to the

right of the figure.

Problem Figure

o

® 5

Answer Figures

Lo ot

1] o ) T [ ]
A ' B c D
Ans X1 D
X 2B Downloaded from - www.exammix.com
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Xs3C
VA

Q.16 37 fFcw & T F, F & 7 BT sEer F W TIH F WA F [
39T ¢ |

Question ID :9864494212
Status : Answered

Chosen Option :3

. 4 X
.« x
. 4 X
+
+
+
+
+
4 x

? + +

.. .. .. .

X X X X X ® X x ®
ok | 4+t + + ? + +
Ans
x
8 + +
- ®
x X
K| o+ +
. & &
x x
{3- + +
- ®
k4
X 4 +

Q.17 fafaf@a # ¥ 5w &9 & Feales suafey & [T R FHK @ 7
TR Bw e §?

The Arjuna Awards given by the Government of India is for public achievement in which
of the following fields? Chosen Option : 1

Ans m

KoL
Literature
TR e
) Poverty Eradication
el
Sports
AT

Economics

Question ID : 9864492314
Status : Answered

v

X a4

Q.18 T URRAT H, g P TEAT HT T HICIT GaNT TAd [hdl AT &l

L. . . Question ID : 9864493631
In the process of , the iron is protected by a coating of zinc.

Status : Answered

Ans x . ﬁﬁl—ﬁﬂé {greasmg) Chosen Option : 3

greasing
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o TASTRITGERIT (alloying)
alloying

s IealATS AU (galvanization)
_ galvanisation
TASEISAT (anodizing)

anodising

X a4

Q.19 e & ¥ 97 Hi7 o faew § = s=dt e A &
The fraction from the ones listed below that will NOT lead to a recurring decimal is:
a

Ans 2<- 1 2
5

56

r g &

K 56
Vi

56

X 2
4
56

Question ID :
Status :

Chosen Option :

9864493021

Not Attempted and
Marked For Review

Q.20 FEAT 428693745 H 9 3R 5 F TUET AF F IR &
The difference between the place values of 9 and 5 in the number 428693745 is:

Ans X' 190995
# 2. 99995
W 289995
#< 4. 8905

Question ID
Status

Chosen Option :

19864494354

:Answered

2

Q.21 Us dia $r AT H ASHT Uk F9T AT AT &, SrHHT Saweri121 g9 FEHET
g1 T = aR = HER U Ied T AG1E. O god T STES fohdeT
B:I?rr‘?(rt=27—2§|'£l’l?TEFi')

A copper wire when bent in the form of a square encloses an area of 121 cm?. If the same

wire is bent into the form of a circle, find the area of the circle: (Use n:—i:)

Ans v 154 I EEHET
S L.

154 cm?
153 g3 H&EHY
153 cm®
155 Fr H&HRT
155 cm?
150 F=T &Y

150 em?

X 2.

X 3.

X a4

Question ID
Status

Chosen Option

19864492471
:Answered
1

Q22 zq7 3aIT 71T gAiE & Ot T g ©
A raised hammer possesses:

Ans

Question ID :
Status :

Chosen Option :

9864493581
Answered
4
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X1 aifes F=r
Kinetic energy

. , T 5
Mechanical energy

 wERi
Muscular energy

| s w=
Potential energy

x

-

Q23 I x? + ax + b T IFT (x- 1) TINT HET FHar AT@r & F 15 99 F9ar &

T T x4+ bx + a B (x + 1) GART HET BHAT T A -1 9T T ¥ Question ID : 9864492997
a? + b* @ A FT g Status : Not Attempted and

Whenx? + ax + b isdivided by (x - 1) . the remainder is 15 and when x® + bx + a Malid Fr Review

is divided by (x + 1), the remainder is — 1, then the value of a® + b?is: Chosen Option :--

ans o110
X220
X8
X416

Q.24 1 1
afea - ~=1 grara® + =2 Question ID : 9864492856

1 1 Status : Answered
Ifa—-=1,thena®? +—=7 Chosen Option : 2
a : a?

Ans 2{ 1.1
V23
X2
X 44

Q.25 & =18 Fhrw W AR F{ AT 7w F1 B & g8 Eunenst F F Fia @ ,
S : Question ID : 9864493921

Status : Answered
giFa: Chosen Option : 4

;mﬁmﬁm%m,mﬁmmﬁmmﬁw
H 25% HH L & OT Hal gl

TAENTOT:
1. HTEFT ARINE HTT =T T @IF F FH FT TFa 2
2. %5 FAEA TR SN & ITE T/ HAE H BT F RS 2

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

Due to water crisis in the city, the authority had asked all the citizens to reduce their water
consumption by 25%.

Assumptions:
1. Many citizens may reduce their water consumption.

2. Many activists may protest to this advisory by the authority.

e A A AR & 2 SRR Y
Neither 1 nor 2 is implicit.
Downloaded from - www.exammix.com
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el AR 1 AR B
Only assumption 1 implicit.

e RO 2 St ¥
Only assumption 2 implicit.

o, 1 3 2 2t o sfefifee ¥

v

x

Both 1 and 2 are implicit.

Q26 Ty F1 a7g F=a1 ¥ & FOFR TY &F IR AT T F ¥ Fohs F GAA

AL ATV BT F T ES @ fam % Question ID : 9864493320
If a body takes ‘t* seconds to go once round the circular path of radius ‘r’, the velocity “v* Status : Answered
is given by: Chosen Option :2
- t
Ans 2(' Ly = —
2y
2ar
_J 2.0 = —

- 2mr?
3. =
K3 -

- mr
4. = —
K v 2t

Q.27 =1 -
Ao RN Sfae aTol TATT AR e Hia g7 Ouestion ID : 8864482158
Who is the only Indian economist to have won the Nobel prize? Status : Answered

Ans ) aﬁmr mﬂ. Chosen Option : 2

L
Avinash Dixit
, AT @
Amit Mishra
| ¥E A
Amartya Sen
x o HEAT A=t
Abhijit Banerjee

x

v

Q.28 _
Question ID ;9864494129

Status : Answered
Chosen Option :1
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Ans

FHEa = (Problem figure) & Soft &t 3eaw &I (Answer Figures) #F &
el v sugeF O & 9wa & U

Problem Figure
4
oI}rg ?
2 S
Answer Figures

o | | L
B | B | F| G
=] =p = =
1 2 3 4

g&ET =B - Problem Figure
3R =T - Answer Figures

Complete the series given in the Problem Figure with an appropriate option from the
Answer Figures.

Problem Figure
&

oL
“b:%::@r:?

Answer Figures
o | L ooy
B | B S

=

2

=
a

L
G

-
3

1

X 11
X 24
s 2
X 43

29 4 2 5
° 53 IR 2 FTTH AT ST Question ID : 9864492603

Status : Not Attempted and
. 4 2 5 .
Find the L.C. M of =, —and = Marked For Review
5°3 7 Chosen Option :--

Ans

Ans Xl- 25
V2 20
< 3. 40
< 430
Q.30

o ga yafts ot & wegh & i o & & = @ 2
‘What happens as we go down the group in the periodic table?

Question ID : 9864493054
Status : Answered

T & TEAT UE AT & Chosen Option :3
1.

~x

The number of shells decreases
X2 o Folagi HH & AT ¢

Valence electrons decreases

Downloaded from - www.exammix.com
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Q31

Ans

Q32

Ans

Q33

Ans

YT &hr TEAT 9 AT &
The number of shells increases

x4_mﬁazﬁmamg’rm%

Atomic size decreases

W 3

1 ? 3
oo 3eh AT FIfe, afe §0es o 11 313§
1 ? 3

Find the missing digit if it has 11 and 13 as factors?
<12
X26
X 38
W4

& 71T W F ewTEE T AR a5 swe # sew & F
EretafaT et # § F s B

e FE X, Y, Z, U i V F § i mw wmw {2

YA
1.X Y, Z, U 3t v s g §
2. Z TauR E=m B

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Which of these natural numbers X, Y, Z, U, and V are even numbers?
Statements:

1. X, Y, Z, U, and V are consecutive numbers.
2. Zis an odd number.

o 1.
FUd 1 3N FUT 2.UF G g g &
Both statement 1 and 2.together are sufficient
&2
FIT FUT 2 GUCT g TG el FUS 1 HIATT &
Statement 2 alone is sufficient while statement 1 alone is insufficient
53,
Faer HUA 1 IATT § T hael FUF 2 3qATT ¥

Statement 1 alone is sufficient while statement 2 alone is insufficient
| 7 FAA ks 2 g &

Neither statement 1 nor 2 is sufficient

x

A R A 7T #R I F yaw F e ww & smer ¢ T Fea £

forms a common passage for both urine and sperms in human males.
<1 :

Oviduct

Question ID : 9864492564
Status : Answered
Chosen Option : 4

Question ID : 9864493816
Status : Answered

Chosen Option : 4

Question ID : 9864493498
Status : Answered

Chosen Option : 1
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x o, e

Ureter

i3 s

Urethra
 Q[ehATfgeRl
~a 2

Vas deferens

Q34 3w o &7 e = A For # 3w : Question ID : 9864494380

Status : Answered

%’é # %& 9 Chosen Option :1

? |y ux

A B C D
Select the option that would come next in the following figure series.

R |
Yy ux

A B C D

Ans of 1 C
< 2B
X 3D
<4 A

Q.35 maﬁaﬂqﬁrmmiz =T | <ot 9 15 e &3 & wgar 81 sE gl
T ol T S GINT T STTe¥ &Tell WA THT e 7

Travelling at sth of his usual speed, @ man is 15 minutes late. What is his usual time to

Question ID : 9864492510
Status : Answered

Chosen Option :3

cover the same distance?

Ans
o 15 B=e

15 minutes

75 minutes
, 45 e

45 minutes

x

236 it .
Q36 Zfcit & S w81 A 8 9 FEF M. (pH) A FH A2 Question ID : 9864493069

Tooth decay starts when the pH of the mouth is lower than: Status : Not Attempted and
Downloaded from - .exammix.com Marked For Review
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<157 L Chosen Option : --

ERE
<356
<454

Q.37 37 HAT F TUF F{ =i ot w2 F 9: 30 Hr =@ 29T ofy & e

Select the time that would depict the correct mirror image of 9:30 on a clock.

Ans  of 1. 2:30

Question ID : 9864494338
Status : Answered

Chosen Option : 1

X 2.6:30
&< 3.7:30
< 44:30

Qs T T AT WA H i A F o A s o s o )
a3 (%)I Question ID : 9864494220

Status : Answered

EEGEE Chosen Option :4

9TTH #Mar F FeEdT g, "@ﬁa:rﬂa:qgaﬁa;raﬂwgmmwﬁa?mﬁ
1
AT

1. =frar ST P AT FEAT THE FET B
2. 9TTH I =@ & T &= &1 o 2

Consider the given statement and decide which of the given assumption(s) is (are) implicit.

Statement:

Shyam tells Gita, “The ways to reach Sri Lanka is through air and water™.

Assumptions

1. Gita likes to travel to Sri Lanka.
2. Shyam is fond of advising people.

Ans X11 3k 2 =t g
Both assumptions 1 and 2 are implicit.
s 3T 2 2= AfEg F@ &

Neither assumption 1 nor 2 is implicit.

Slmmzﬁﬁa%

Only assumption 2 is implicit.

el AT 1 AfEa 2

Only assumption 1 is implicit.

x

X4

Q.39 HANFA FEFHITET FRURE F I FEOFA FifeHr F Fia o wftg
ST AP o e R 2

Who is the famous Indian actress who stars in the ‘Quantico’ TV series on American
Broadcasting Corporation? Chosen Option : 1

Question ID : 9864492301
Status : Answered

e, e 8Tg

Alia Bhatt
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Ans

Ans

Ans

> 2. 3
Deepika Padukone
: frgerr Ir9=T
Priyanka Chopra
o, T 3RRT
Malaika Arora

v

QA e TR R Ik T s T T assREmFsRir=md e

FT AT FUT AT F
e wfEar & Y wefg &7
e

1. el = ofey, AfEar & A # swetar 97§
2. T F ar$ 3T AT & 9y == o€ AT 9 (cousin) I

Consider the given question and decide which of the following statements is
sufficient to answer the question.

How Swathi is related to Namitha?

Statements:

I.  Swathi’s husband is the only son of Namitha’s mother.
II.  Swathi’s brother and Namitha’s husband are cousins.

r .
faT 71T 9o T 3eR & F w1 3k 2 I weg #
Both I and IT are sufficient to answer the question.

&2
& 91T 99T 1 3o & & T 2 3ol TS &, ST=ih 1/ 3%hel 9Acd &t
Zl
1I alone is sufficient while I alone is not sufficient to answer the question.

¥ )
foT =TT 93T FT 3T & F T I ar 1 I 2 garea T

Either I or I is sufficient to answer the question.

~a
& 91T 92T 1 o< & & foIC 1 3ol TaAIcd &, S|t 2 3ol 9Aicd Sl
2l

T alone is sufficient while IT alone is not sufficient to answer the question.

Q.41 el ¥ FY F.UF He T 375 #H Tliar AfeT a5 F 39 [T FIh FACA

FT & [T T 345 F G 93T 39 fohclel Widerd Fehar gaim 87

Dipali bought a set of cups for T 375, but then had to sell it later to clear old stocks for T
345. What is the percentage of loss that she incurred?

X114
X 27
X316
V8

Q42 gfE 123 x 356 =43788 & @ 1.23 x 0.356 T AT FAT EM?

If 123 x 356 = 43788, then 1.23 x 0.356 ="
/X 1.437.88

Question ID : 9864494277
Status : Answered

Chosen Option : 1

Question ID : 9864492989
Status : Answered

Chosen Option :4

Question ID : 9864492740
Status : Answered

Chosen Option :3

X 2. 4.3788% Downloaded from - www.exammix.com
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W 3 0.43788
< 4.0.043788

Q.43 #rr R 7T FUF T FeT A §C T A L [ FUA F HUT W A W@ )
N = : ¥ Question ID : 9864494118
Status : Answered

Chosen Option : 3
HUA:
st & femma & ert & #law 7 97 e ueey FE ae gl

Toresy:

1. AR B Fog & MRT 5 Rt & #Sew # F 3w ar i
2. TTHI & =g & & Oent & dtae & sy & sy ||t # g
Eayl

Consider the given statement true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

People complain that bus tickets are not available during festival seasons.

Conclusions:

1. People should be advised not to travel during festival seasons.
2. The government should bring in more busses during festival seasons.

Ans xl‘iﬁﬁﬁ&1 T 2 ST IFEWT F &

Both 1 and 2 follow.
X 2.
7 & sy 1 3 ar & ey 2 et e g
Neither 1 nor 2 follows.
fa%s fasey 2 srgaor #ear 2l
Only conclusion 2 follows:

fords forsend 1 3/fEROT et 2
4,

Only conclusion 1 follows.

W 3

Q.44 )
Question ID : 9864494033

Status : Answered
Chosen Option : 3

Downloaded from - www.exammix.com
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w2 &7 (Problem figure) #1 3eax =T (Answer Figures) # ¥ 39gad
faweT & mry oo X

Problem Figures

WG
mapdli]
| 2

Answer Figures

A B C D
Complete the Problem Figure with an appropriate option from the Answer Figures.

Problem Figures

TR [G
APl
K

Answer Figures

A B C D
Ans ch
< 2D
v :B
<4 A

Q.45 w,x,y 3R z 3E FH F cuafeyd IR TE” ¢ s9H § O wgeaH GEURi #
sitaa 18 § s=f e sMdeas dwamst & sitaa 22 1 st @ gl &= §?

Four numbers, when arranged in ascending order, are w, x, v and z. The average of the
smallest three numbers is 18, while the average of the largest three was 22, What is the
range of the data?

Ans X110
V212
< 313
X411

Question ID : 9864492718
Status : Answered

Chosen Option : 2

Q46 Drafaf@a # & Hia @1 v trwReiE iwaEs § 2
Which of the following is an amphoteric oxide?

e, TR sieaTsE

Aluminium oxide
<2 AT (1) HTFATSS
Iron (IT) oxide
| BT JHETes
Magnesium oxide
X o FET SEHTFAESE

Carbon dioxide

x

Question ID : 9864493312

Status : Not Attempted and
Marked For Review

Chosen Option : --

) 1 } J—F -
’ Dowioaucu 1moriT = VVVVVV(.U)\GIIIIIII)\.L,UIII
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Q.47 fRsT # 1T % W Tl IS 17 - 8 § e aony 3R T @ Question ID : 9864492986
HUE 6 : 17 &1 THe0r 3 T & ey deie @ @ s 67 Status : Answered

The ratio of sand to gravel in a mixture is 17 : § while that between gravel and cement is 6

: 17. What is the ratio of sand to cement in the mixture? Chosen Option :4

ans X117 2 17
X 2.289 : 48
X38:6
v:3:4

Q4% 3249 T a_dﬁﬂ“ﬂ' CiRGl g'i Question ID : 9864492883

. Status : Answered
The square root of 3249 is: Chosen Option :3

Ans X' 1. 63
<259
v 57
< 467
Q.49 W 7T Fo H CAAES T AN FAW R FHH F Sl & & fow
frfafee Fuat # & wla weT 3 |
X, Y #R Z & g A=gd w2

FYeT:

Question ID : 9864493775
Status : Answered

Chosen Option :4

1.Y #1 A9eT (X+Z) &7 3mer &
2. X 3R Y e @y Z ¥ 740 3% A § 3K Z T500 FAECT &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is the average daily wage of X, Y and Z?
Statements:

1. Y’s salary is half of (X+Z)
2. Xand Y together earn ¥ 40 more than Z and Z earns T 500

Ans o P 3T FuT 2 ST gAeT F
Both 1 and 2 are sufficient
| AT FUT 1 T HuA 2 qaeT &
Neither 1 nor 2 is sufficient
& 3
Fae FUA 1 gATT § FaF FIT FUT 2 HIAT &
1 alone is sufficient while 2 alone is insufficient

v
FIe FYUT 2 gAT § AGTS a9 HYUT 1 39T &

2 alone is sufficient while 1 alone is insufficient

x

Q.50 TF wfaies & & faggd T I varfed el & | Ua Tid afcrias # v & @saiay
FATT TWAT § | TAF t 7 HeT G@NT 3T HT IS 3T hr AT octelt g

A current I flows through a resistor. A source maintains a potential difference of V across
the resistor. The energy supplied by the source in time t is: Chosen Option : 4

Ans X Lyt
X2 VI
V'3 VIt

Question ID : 9864493165

Status : Answered

Downloaded from - www.exammix.com
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XaVI/t

Q.51 & 7€ fFa W fFEw w3t a7 w1 & & g wunonet & @ wiw @ SR '
gl ' Question ID :9864493934

Status : Answered

g Chosen Option :4
wfr FEfat & s JEar 9Hg g

RO
1. 997 3UFAM & TSNT g B
2. el =it w5t 1 Fo ST Tgew TEE AT g

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

All girls love reading novels.
Assumptions:

1. Novels are the only reading materials.
2. No girl loves to read other materials.

Ans o, | 3R 2 =t Jeremone AR g

Both assumptions 1 and 2 are implicit.
2 oo qureT 1 AT g
Only assumption 1 is implicit.

3_3?&13#‘!??@2%1%3%

Neither assumption 1 nor 2 is implicit.
I qauReT 2 AT g
4.

Only assumption 2 is implicit.

x
-
x

Q.52 mﬂ' - EnTEﬁ' HTET mh—_r G,ﬂa- i
a ?Ié- - & Rl 3 e ; _'?lf-l'l Question ID :9864493989
Status : Not Attempted and
Marked For Review

Buy : bought ::
s . : . Chosen Option :--
Select the missing word pair based on the given related pair.

Buy : bought ::
Ans X 1. Tore : Tear
# 2.Ran : Run

# 3. Sang * Sing
¥ 4 Shut : Shut

Q.53 )
Question ID :9864493841

Status : Not Attempted and
Marked For Review

Chosen Option : --

Downloaded from - www.exammix.com
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weeT HMHfA (erugif melborP)&T e # ot aTe W Wiatad I

Problem Figure

Answer Figure

A

Choose the correct water image of the given problem figure.

Problem Figure

Answer Figure

209

Ans o 1. B
<2 A
K3C
<4D

Q.54 #rr AT 7T IR F TR & E 5 3 3 F afornfg &= e
arfer T = aEEET AT gFeET gt saET @ S

Question ID : 9864494096
Status : Answered

Chosen Option : 1

5+3%x6-4+2=4x3-10%2+7
In the given equation, LHS = RHS only when we interchange numbers on the
same side.

5+3%x6-4-2=4x3-10+2+7

Ans 2{1.5 3111’2
5and?2

x, 337
3and 7

v, 634

6 and 4

x4 ERT

4 and 7

Q.55

Downloaded from - vvwv»{.exammix.ccﬂwstion ID : 9864492167
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SEY 2018 W, AT & AEAAN FT §, AT F g FEAAN o §2

As of February 2018, who is the Chief Minister of Telangana, who is also the first Chief
Minister of Telangana?

Ans e & IEET U9

K Chandrasekhar Rao
) FETH el
Kadiyam Srihari
X & =
T Rajaiah
\ EELICRTIDE
Chandrababu Naidu

x

x

Status : Answered

Chosen Option

2

Q.56 WNfEE " @EE & AER, TE a5g A dcal B &= g
According to an early Indian philosopher everything is made up of

Ans K 1.9
X2 4
X33
V45

basic elements.

Question ID
Status

Chosen Option.:

19864493327
:Not Answered

Q.57 = T&] &1 P 3 F & &= T&T AT ¢, 7 Ta 3l GUUT G =iTs 715 O e &l
T &1 9T o= me?

Find the position of the image formed by a concave mirror when the object is placed
between P and F?

Ans oo
~ L

At infinity
,FiRcHEaT

Between F and C
v, UTH

Behind the mirror
, C Cok oY

Beyond C

x

x

Question ID

Status

Chosen Option :

19864493564

:Not Answered

Q.58

Question ID :
Status :

Chosen Option :

9864493919

Not Answered
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Tfg & 15 plaat F T Tei F Hael T I FART H S Tofg 9 Thol
daragag @

Ans

 (158), (247) 3k (3,6,9)
(1,5,8), (2,4,7) and (3.6.9)
«, (157), (2:4.9) 3 (36.,8)
(1,5,7). (2.4.9) and (3.6,8)
o, (157). (26.8) 3 (34.9)
(1,5.7), (2.6,8) and (3,4,9)
v, (157), (248) 3 (3,6,9)
(1,5.7), (2.4,8) and (3,6,9)

x

Q.59 T Ucehigel &l dFaeleleh 78 °C g1 hiedel YA I AT ohaal 12

19864493128

:Not Answered

The boiling point of an alcohol is 78 °C. What is the temperature in Kelvin scale? Questis(:;lllz
Ans ?<. LT8K Chosen Option : --
< 2.341K
X< 3373K
v 4 351K

Q.60 T TSN FISAIE W TIe: 5 1 FAeTell § 3T AITgL 3 ToF Aol Tg el §| T 37
TGS ST W AIA: 7 o1 Jetcil g 3R W 5 = FIAIE TgAH § | Sl Lo
HTTE H e et 82 A sl gt WEenisat weh HaAreT =rel & = W &
A Train leaves Kazipet at 5 a.m. and reaches Bangalore at 3 p.m. Another train leaves

Question ID
Status

19864492570
:Not Answered

Chosen Option :--

Bangalore at 7 a.m. and reaches Kazipet at 5 p.m. When do the two trains meet? Assume
that the trains travels at equal uniform speeds.

1_a11m1

1pm.

X2 gt 12
12 noon
- 11
v qrd
11 am.
. YId: 10
4

' 10 am.

Ans

x
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Q8 =9k T Eﬂ;ﬂ' %’ ? Question ID : 9864493175

Wh . . - Status : Not Answered
at I1s a tissue:

Ans X1
T FIRHTE S 7 T & FA @ § Rog Ry R HE 0 B e
Cells which are similar in origin, but dissimilar in form and function
> 2.
T FIRNHC S AT T 1= gelr , TReg et 3N e oty 3 WA g &
Cells which are dissimilar in origin, but are similar in form and function
< 3.
& RS S 7T O, R # 39K A A B e &
Cells which are dissimilar in origin. form and function
v &
§ FIRAT A g7 &7 F, @ F 34X oy & gAET g

Cells which are similar in origin, form and function

Chosen Option :--

Q.62 T FE #, IfF UNGIMMICKY = MIGNUYKCIM for@r =mar § ot za &g &
COMPLEXITY &' F& foram Sreem?

If in a certain code, UNGIMMICKY is written as MIGNUYKCIM, then how will Status : Not Answered
1 1 Y .
COMPLEXITY be written as in the same code? Chosen Option : -

Ans - X 1 LPOMCYTIXE )
X 2. LPMOOCYTIXE
X 3 LPMOYCTIXE
v + LPMOCYTIXE

Q.63 TH T FHE H gT TET A N B vH @ & F1 10 6E F 57 T &

Question ID :9864494215

S ) N g e 0 U Question ID :9864492972
A S F 3F T S @11 ¥ # G # Fer 13 5 o 0| A SERr ke Status :Not Answered
el &F A F oA gaT wEem? Chosen Option : --

Working together, pipes A and B can fill an empty tank in 10 hours. They worked together
for 4 hours and then B stopped and A continued filling the tank till it was full. It took a
total of 13 hours to fill the tank. How long would it take A to fill the empty tank alone?

Ans ._,1.15Ei-3
15 hours
,13 =
13 hours
, 16 ®=e
16 hours
12 =

12 hours

x
x
x

Q.64 FTEEr 2018 B, YoTEE Fr ENTST EF TH ST FeIEE F ANGF FT 27

As of February 2018, who owns the Hyderabad-based IPL team ‘Sun Risers Hyderabad’? Question ID : 9864492159

e Status : Not Answered
Ans
. 2 shllaiched ruﬁsj ﬂql Chosen Option : -

L

Deccan Chronicle Newspaper

2. UG T
Kalanidhi Maran

v
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EECIENGIDE]
X 3. LY Y
Chandrababu Naidu

=T

Chiranjeevi

X a4

.65 eAff@d gea wemg WE # HHT & FIbE Icaee 1
Q B i (e 3 fow o & Question ID : 9864494101

Status : Not Answered

Chosen Option : --

srehtO -3+, raguS -2, tachW -3¢, Rlec - =maer

T T eAEA 9000 T of A TGS F SeAe F AT oA H T
The given pie chart represents the annual yield of certain crops in tons.

If the total production is 9000 tons, then the yield of rice is tons.

Ans X 13000
v 2.1000
X 32000
X 21500

.66 =t -
Q66 FaTTor T Tgel fellSteT AW H gam em| Question ID : 9864492103

The firstPartition of Bengal took place in the year ) Status : Not Answered

Ans Chosen Option :--
x, 1906 EREl)
1906 AD

X3 1903 Ear

1903 AD

X 1904 @4t

1904 AD

v 1905 s@dr

1905 AD Downloaded from - www.exammix.com
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Q.67 UF UHN F 3Tl Uolalel i Tgul= ogd =12, o= 3k ufcaat S o &
Fo GFEl & AAH § deed WA §?

Identify a type of asexual reproduction which involves reproduction through parts of a
plant such as roots, stem and leaves?

Ans Asoll (Budding)

F 0
Budding
v
aaAEdIde Yai-i-i(Vegetative propagation)
Vegetative propagation

. fa@sa (Fragmentation)

x
Fragmentation

.y L3 &1 fITT (Fission)
Fission

Question ID :9864493057
Status : Not Answered

Chosen Option : --

Q.68 fFW s o@s o W g T fRess’ qroe # $AF & wwiat F few
FT U e &7

Which Indian author has chronicled the life in the Kumaon hills in the book ‘Things to
Leave Behind*?

Ans 1 e oUwT

Shashi Tharoor

X2 3T T
Anosh Irani

s AfHaT airEer
Namita Gokhale

X 4 IECT R
Vikram Seth

Question ID : 9864492312
Status : Not Answered

Chosen Option : --

Q.69 farafof@a sfEcaf@a & 39 Reat i g T o 3 T R
i 9 dear & §

A$1%MBH#HEENC=3!0D+KP

The numberof symbols that are preceded by a letter and not followed by a number in the
following expression is

AS1%6MB#6&NC=310D~KP
Ans ?(\ 1.3
X2 4
v 31
K42

Question ID : 9864493974
Status :Not Answered

Chosen Option :--

Q.70 31TeT AT ET H UA FT IS H & Afad IOl FidEa ofier 7 d@ar § &
9T QT BT H 1 I8 T F & e goar & FHoT 87

A person holding a pen in his left hand sees his reflection in the mirror holding the pen in
his right hand. This is due to which of the following phenomena?
Downloaded from -

Question ID : 9864493403
Status :Not Answered

Chosen Option :--
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Ans xl_ﬁﬂﬂﬂﬂﬁﬁ?

Diffused reflection
X2
&l 3iaile gfdfEea (Total intemnal reflection)
Total internal reflection
v qred =gcshAT (Lateral inversion)
Lateral inversion
KIECRE]

Refraction

X a4

Q.71 F® m ¥ Wy Teh g§ TEG F AT FAT (E) F AT AT g A FHA
ofy F v & qGET 2v T IET F ST 2

What will be the value of the kinetic energy (Ex) of a moving body with mass m, if its
speed is doubled from v to 2v?

Ans % Ek
KoL
1
> Bk
4E,
4E,

_Ekﬁaﬂéqﬁaé?rﬂﬁ‘ra’mrl

There will be no change in E;

2E,

X a4
2E;

Question ID
Status
Chosen Option

19864493422
:Not-Answered

Q72 Ty TEAT & 28% T AT 35 gl HEAT W1 E?

28% of a number is 35. What is the number?
Ans  X1.108

Question ID

Status

Chosen Option :

19864492706

:Not Answered

If the resistance of a conductor is doubled, the current gets halved. This is because:

ans X 1] =V-R

Chosen Option :

< 2.120
< 3.80
v 4125
Q73 gﬁ:ﬁ T B ST & T RGeS 81 T Question ID : 9864493326
Status : Not Answered

N — v
R
R
v
X 4] =VR
Q.74 #RT % W 3cat-Tdf T=wr & 2022 & 39%F U~Ew el i FA=EE
forrerdr = &2
Which north-east tate of India has si to host the 3 ional Gq in th
gear20mn SR B 1011 1 167-Ta (<10 kot o] 3 BRI

Question ID :

. Status :
'exammlx(ﬁgg@n Option : --
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L )
Ans m
v L

Meghalaya

X2
Mizoram

Xa o 2
Manipur

Ka 2
Tripura

Q.75 &wré o F wd wReE =T & @ v, de Gl aRfew B uw § e B

o - . . Question ID :9864492132
In which city is St. Peter’s Basilica. one of the most famous churches in Christianity,
located? Status :Not Answered

Ans v A2 (Madrid) Chosen Option :--
Madrid
foreaTeT (Lisbon)
Lisbon
N 9THT (Pisa)
Pisa

. afera (Vatican)

WVatican

X 2

x

x
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